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Part I.

1. According to the binary tree shown below, please describe the procedures of
pre-order (8%), in-order (8%), and post-order (8%) traversals and show the final

2. Based on the following data: 3, 2, 6, 4, 1, 5, please describe the processes and

~ their results by using the Bubble Sort (10%) | _

3. According the liked list shown below, please describe the steps of (1) inserting a
node after node b (8%) and (2) deleting node a (8%).

results of each traversal.
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BRAEARE %I AT LAKE B K %A &AM & (Stack) »
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MBip i egRR 0 &R T A 4 R F 8y HEF)IE A (permutation)

(@) RAWETE * HRDH B 1234 > A LRI kAT 35 H
AFEBEIVESE TR L% ? (10%)

(b) ZHBME XA n@LTE Hf BAETRHET] 2 (5%)
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jT Pt (Hanoi Tower) & 4o 6 6 B ML MR > THERBEFERELE
AR ELA -

(@) FERER k@ﬁ%ﬁkéﬁff&%#ﬁﬁk@ﬁﬂ‘? A&7 (4%)

(b) %o R & 5% A&k N 18 Disk 4§77 P35 B8 » & BT &k &) Disk #&%) 7 (1%)
(©) HEH (b) HEE - (10%)

[feX%t8 RAENRXEEETHM  REEHESE] 20%

# {83 £ (Stack) S1 Fv S2 £ EE A —BEZ| A[0.m-1]EEFER A £
TEF mBFAAFE - KIIAA A[0]4 % SI #4 bottom > Alm-1]45 % S2 #
bottom ° #FH A C 3BT & H {8 & PUSH(,x)Fv POP() » 1<i<2 - H F
(a) PUSH(i,x)3e % 7T x Aw A Siv 2 K 5L B AE#x & StackOverflow &9 4% 3 - (10%)
(b) POP()#¢ Si #Fr— BT % #iib)é ARtk & StackUnderflow &4 4k - (10%)
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